13. Use this function o arswer the guestion.
L i E
F(x)=—+3
X

What value is NOT inclhaded in the domain of the inverse of this function?
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14. Use these funciions 1o answer the guestion.
Ffixy=4x—12
il
gix) = 1
flgix))=x

Which staterment about the functions fix) and g(x) is true?

They are inverse functions because F (gl 15 not equal to 0.
They are inverse functions hecause 7207 15 equal tox.
They are not inverse functions because a0 12 not eoqual to 0
They are not inverse functions because (g0 12 equal to x
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